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a Angle @ is such that 0° = 8 = 360°. Given the
trigonometric ratio cos 8 = —:1}

a. determine the exact values of x, 3, and »
b. determine two possible answers for angle 8 to
the nearest degree
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sec’ A —tan’ 6 .
@ 5 =cos" B
sec” 8
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@Dettrmjne the exact area ofthe u'ia_ngle
(diagram is not drawn to scale)
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@ A square-based pyramid has a height of 182 m
and a base length of 280 m. Find the angle, to
the nearest degree, that one of the edges of the
pyramid makes with the base. Round your
answer to the nearest degree.

182 m

280 m ?
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